Prof. N. Haidar " FACULTY OF ARTS & SCIENCES , A. U.B.

Sec. 7&38 Math 202
(2-nd Semester, 1997-1998)
Time : 1 hour , QUIZ I

9 April, 1998

(closed book)

@ 1. Solve the DE
cosx cosy dx - sinx siny dy = 0.

© 1. Show that the IVP
xy +y=12x; y(0 =0,
has exactly one solution but the IVP
xy +y=2x; y0) =yo 20, _
has no solution at all . Why doesn’t this contradict the related
Existence & Unigucness theorem 7.

@ 1L Find the gencral solution of the DE
y + x? y= y4.

® IV.Given that y, = x is a solution to both of the following DE's
! 3 2 -1
a) y =x" (y-x)"+x"y,
b) xzy/" -2xy +2y=0 .
Find the general solution 1o cach of these DE's .

© V. Solve the IVP
yy' = -y 5 yo=1, 50 = 2.

® VI. Find the solution of the IVP
Y +y -6y =0 1 yD=1,y(D = 1.
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